TR265F EE

PERZETREIER (REEA. HEZH 1)

(Bfsr: N)
INR INBY &% kowo it

LIREE 11 24 19 56
L ® B 1 2 3 6
R 1 2 4 7
B’ e 2 2 5 9
B 15 30 0 31 78
WEsxeE 14 5 45 73
g B 1 4 17 22

w B F 2 1 7 1
F &% 5 6 8 19

& W ® 3 7 15 25
m H 4 4
it 25 23 0 96 154
HaEE 4 5 27 37
y R B 7 7 14 28
a i 1 2 12 18
B W 4 6 32 42
it 16 20 0 85 125
RREEE 70 444 126 92 742
#HEJ| 43 93 3 93 240

F OE 37 26 77 143

R B X 16 37 1 83 148
*x W 20 4 57 81

R OB B 6 8 40 55
m K 1 11 14 30

o 11 12

E 193 623 130 467 1,451
2TEEREE 8 41 87 146
#, g% M 8 12 36 58
+ g B 2 6 17 27
g = B 2 5 13 20
B2 H 1 17 18

B 21 64 0 170 269
KREE 20 116 95 246
WO 6 14 14 37
X E E 5 24 18 5 52
# B 4 3 9 1 17

R = B 5 5 10 1 21
FFL 5 3 10 2 20

H 45 165 0 156 7 393
TE%%I% 12 10 25 1 48

= 3 2 3 1 9

I g 1B 1 12 3 16
& MW 3 1 17 2 23
W A 3 8 12 1 24

E 22 33 0 60 5 120
ENEE 5 2 18 1 26
= # B 4 3 1 8
T I 2 13 15
w5 s A 1 2 1 4
B 10 4 0 36 53
EREE 2 56 55 118
T = 1 10 1
’E B 3 17 10 30

B B XK 1 3 15 21
X & 1 1 4 6

7 - 3 1 14 18
BRE 3 8 1 12
O 14 78 0 116 8 216

B 4 12 2 2 20

& it 365 1,052 130 1,219 3 2,879




FR2TEEE

PERZETREIER (REEA. HEZH 1)

(Bfsr: N)
INR N3 Bk E cSvo BXHA it

LIREE 9 21 41 6 77
L E B 7 6 13
R 1 8 9
B’ e 4 2 9 15
i 14 30 0 64 6 114
WEsxeE 8 6 1 71 8 94

g B 2 4 13 1 20

w =B F 1 2 19 1 23
F &% 1 4 8 13

& W ® 2 5 12 2 21
o | 2 7 9
it 14 23 1 130 12 180
HaEE 6 14 28 48
y E B 3 5 12 20
a i 2 1 22 2 27
B W 11 3 23 1 38
it 22 23 0 85 3 133
RREE 92 535 105 108 16 856
#HEJ| 64 90 2 92 8 256

F OE 48 20 86 5 159

R B = 7 34 3 64 3 111
*x W 5 51 1 57
m OB B 3 3 34 2 42
m K 1 3 23 1 28

o 1 4 1 6

B 221 685 110 462 37 1,515
2TEEREE 9 35 79 7 130
#, g% M 12 11 30 5 58
+ g B 4 10 16 3 33
B = B 6 14 20
2 H 1 2 16 19

i 32 58 0 155 15 260
KREE 19 85 87 8 199
WO 2 11 10 2 25
X E E 6 13 37 5 61
# B 3 6 8 4 21

R = B 1 6 18 2 27
FFL 2 7 15 1 25

H 33 128 0 175 22 358
TE%%I% 13 10 22 3 48

= 3 2 5

I E IR 4 4 4 12
g MW 9 17 15 41
W A 3 6 14 23

B 32 37 0 57 3 129
ENEE 1 6 7 2 16
= # B 7 4 1 12
T I 2 3 6 11
w5 A 2 3 5 10
B 12 12 0 22 3 49
EREE 4 49 49 3 105
Tt = 1 2 7 10
£ 14 4 10 4 18

B B XK 2 3 7 12
X & 1 1 8 10

M = & 3 2 8 13
BRE 1 1 12 14
O 16 68 0 95 3 182

B 1 4 2 7

& it 397 1,068 111 1,247 104 2,927




TR28FEBEMEDEERRIER RER . HEDHI)

(Bfsr: N)
INR N3 Bk E cSvo BXHA it

AREE 3 34 25 2 64
L E B 5 6 11
R 2 4 2 8
B’ e 2 1 13 16
it 7 44 0 46 2 99
WexE 12 6 61 7 86
B B 2 3 20 3 28
w B F 2 7 16 25
F &% 2 5 5 2 14
& W ® 4 2 15 3 24
o | 1 9 1 11

B 23 23 0 126 16 188
HaREE 4 2 33 8 47
y R B 4 2 12 2 20
a i 2 6 14 22
w0 B W 6 9 23 38
&t 16 19 0 82 10 127
RREE 85 366 84 89 11 635
#HEJ| 56 91 65 6 218

F OE 65 29 62 6 162
R B = 5 13 1 44 2 65
*x W 9 38 5 52
m OB B 3 24 1 28
m K 2 1 18 21

o 2 2 4

B 224 503 85 342 31 1,185
2TEEREE 19 35 1 87 26 168
%, g% M 9 6 20 4 39
& g B 3 16 16 3 38
g = B 2 4 9 15
B2 H 4 10 14

B 37 61 1 142 33 274
KREE 21 62 98 9 190
WO 4 16 21 41
X E E 3 7 12 1 23
% B 7 3 14 3 27

R = B 2 8 2 12
FFeLL 4 3 6 3 16

B 39 93 0 159 18 309
LEEXE 11 7 16 2 36
5 1 1 3 1 6

I g 1B 1 8 5 14
g MW 4 9 17 30
W A 6 1 7 1 15

B 23 26 0 48 4 101
ENEE 1 3 25 2 31
= # B 1 3 2 6
T OIE 1 14 2 17
w5 A 2 1 5 8
B 4 5 0 47 6 62
EREE 6 30 48 2 86
T = 5 4 10 19
£ 14 5 6 1 12

2 B &K 4 24 28
X & 4 2 6

i = & 1 5 5 1 12
BRE 2 1 4 7
O 23 52 0 92 3 170
it 1 5 1 7

& &t 397 831 86 1,085 123 2,522




